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VI Semester B.Com. Examination, September/October 2023
(CBCS) (Fresh + Repeatersl (2017 - 18 and Onwards)

COMMERCE
6.5 : Elective Paper - Ill : Business Taxation

Time:3 Hours Max. Marks:70

lnstruction : Answer should be written either in Kannada or
English completely.

SECTION _ A

\- Answer any five sub-questions of the following. Each sub-question carries
two marks. (5x2=10)

1. a)

b)

c)

d)

e)

0

s)

Expand BCD and CBIT.

Mention any two types of customs duties.

What is meant by advance payment of tax ?

Define partnership.

List any two deductions under Section 80 applicable to a firm.

What is domestic company ?

What is double taxation ?

SECTION _ B

s Answer any three questions. Each question carries 6 marks. (3x6=18)

2. From the following information, compute the assessable value :

i) Value of machine in UK pounds 16,000 FOB

ii) Engineering and design charges paid - UK pounds 6,000

iii) Freight paid (Air) - UK pounds 3,000

iv) lnsurance - Not known

v) Commission payable to local agent @ 2"/" of FOB in lndian Rupees

vi) The exchange rate announced by the Central Government is t 78 per UK
Pound.

P.T.O.
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3. D, E and F are partners in a firm sharing profits and losses in the ratio 1 :2:3.
Prof its of the f irm for the year ended on 31 -3-2022 was { 65,900 after considering
the following items to P and L Account.

i) Salary to partners :

D : { 65,000 and E : t 60,000

ii) lnterest on capital al2O"/"

D : t 1,750, E : T7,000; F : t 5,250

iii) Commission to partners :

D : {2,500, E : t6,250, F : t 8,750

Compute the allowable remuneration of the partners.

4. A block of asset consist of 5 machines. The WDV of machinery as on 1-4-2021
is t 1 ,80,000. Rate of depreciation is 15%. A new machine costing t 1,60,000
was acquired in May 2021 but actually put to use only on 10-10-2021. Two old
machines are also sold for t 3,20,000 in December 2021.

Determine amount of depreciation for the A.Y.2022 - 23.

5. State whether the following payments are admissible or not while calculating
the business income under the provisions of lncome Tax Act.

i) Loss of stock due to theft by an employee

ii) lncome tax

iii) Charities paid

iv) Provisions for doubtful debts

v) Legal expenses to defend on existing title to a capital asset

vi) Loss on sale of capital asset.

6. From the following details of income, compute TDS for each transaction :

a) Dividend from a Listed Company t 25,000.

b) Winning from Lottery { 70,000.

c) Rent paid on building t 20,000 p.m.

d) Advances received from sale of building { 5,00,000 (Sale value t 15,00,000).
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Answer any three questions' Each question carries 14

T.Manasvilndustriesimportedamachinefor20,000d
following informatlon Jculate assessable value an

SECTION - C

marks. (3x14=42)

ollars from USA' From the

d customs duty Payable'

a) Packing charges 480 dollars'

Ui Oesign and development charges 1'200 dollars'

c) lnsurance charges 200 dollars'

ol rreignt charges through air 640 dollars' 
L^ +.^^aa,rri^n 400 dollars

e) Commission paio to a"uroker who arranged the transaction 400 dollars'

$ Exchange rate specitied by board one dollar - { 80'

g) Basic customs dutY 10%'

h) IGST @ 18%.

i) Social welfare surcharge applicable at 10% on BCD'

8. Profit and Loss Account of Devika Firm (a partnership firm) for the year ending

Particulars
Sales

Rent from house property

Dividend

10,15,000

a) Out of other expenses 9,200 is not deductible u/s 36, 3g (1) and 43B.b) On 15-1-2022thetirn
y e ar 2o2 1 - zz a" tii3?,T, :iiXilt1X ?n'"';:] iLTff 

, j 
B i g!,;

has not been debited to tne atore'saiJp.iii""o Loss AccountCalculate Book-profit, Business lncome and Gross Total lncome.
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Amount

9,00,000

30,000

85,000

31-3-2022 is as follows :

Particulars Amount

Cost of goods sold 5,00,000

Remuneration to partners 2,24,500

lnterest to partners at 18% p.a. 30,000

Municipal tax of house
property 12,500

Other expenses 1,1g,000
Net profit 1,3O,OOO

10,r5,000
Other information :
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9. Following is the P and L tuc of Rachith co. Ltd. for the p.y. 2021 - 22 :

Particulars

To Establishment expenses

To Rent and taxes

To Depreciation

To Fire insurance

To Provision for taxation

To Entertainment expenses

To Donations to Rajiv Gandhi

Foundation

To General expenses

To Proposed dividend

To Net Profit

Particulars

To Purchases

,, Entertainment 
expenses

" Travelling expenses

" DePreciation

" lncome tax

By Gross Profit 24,0O,OOO

By Rent received (HP) 1,60,000

By Profit on sale of

fixed asset 74,000

By lnterest on Govt.

securities 48,000

By Dividend received

from lndian company 40,000

t

1,62,500 By sales
18,18,000

17,500

35,000

2,75,000

1,90,000

,, Amount withdrawn

from General Reserve 1'50'000

,, LTCG 60'000

,, Transler fees 2'500

5,00,000

55,000

1,20,000

34,000

6,20,000

28,800

20,000

1,31,000

21,000

11,92,200

27,22,0OO 27,22,OOO

Additional lnformation :

1) General expenses include a sum of { 19'200 as municipal tax and < 3'200

as insurance on house-properly let out'

2) Depreciation admissible as pet lT law is { 1'00'000'

Compute the total income of the company for the AJ' 2022 - 23'

10. The following particulars are provided by Basava Co' Ltd'

Trading' P and L A/c for the year ending g1-3'2O22

I Particulars



Profit on sale of motor

car 12,500

lnterest on tax f ree

Govt. Securities 10,000
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20,53,000

Additional lnformation :

1) Unabsorbed business loss brought forward is t 3,00,000 for income tax
purposes and t 2,25,000 for accounting purposes.

2) Unabsorbed depreciation b/f is t 1,50,000 for accounting purposes.

Compute:

i) Book profits under 1 15 JB

ii) Tax under ltlinimum Alternative Tax.

1 1 . Z Ltd. Company estimated the following incomes relevant for the P.Y. 2021 - 22 :

a) Computed income from house property t 1,50,000.

b) Computed income from business { 6,50,000.

c) computed LTCG t 1,50,000.

d) Computed STCG T 1,40,000.

e) lncome from other source (Other than casual income) < 1,50,000.

f) Winning from Lottery (Gross) t 50,000.

Calculate advance tax payable.

tffiffimtililtftilt .5_

,, Outstanding GST .|5,OOO

,, Provision for unascertained

Liabilities 30,000

,, Proposed dividend 90,000

,, Tax consultation fees 10,000

,' Provision for loss of

Subsidiary Co. 22,500

,, Salaries 1,00,000

,, Sundry expenses 82,500

,, Net profit '10,23,000

20,53,000
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dddsd.9et 9r

arpd-o

obdtoaddn ad> en:d-{,dozfvii eruqo:l. {3 erud-{,dnri odd> erodrl9o. (5x2=10)

1. a) BCD drEb CBIT ddil9&4 ano$.

b) erd:d: loodd9 obdoaddo 2 oCd$* dnoAr.

c) d::orld dod Dde aodded: ?

d)'asEelmod' da6sD60rr.

e) nd*o6 80 dO-ud:d e?eDirrod no{ol: iouofde^1., ob$oaddn 2 daddd} dno&.

f) {deA dodO aodded> r

g) add: ?;IDo dod aoddeab ?

otDCaiddra $.od, €,d4,f9ii erDdo&. E.g{,d4ri ec& eroEil$J. (3x6=18)

2. €3 d$nd addrlgod doririroqdaiDd:rsod dPelrddl dod:baobo :

i) od>o$d FOB dPerr16,000 UK dod>d$:.

ii) qodoeo$oonr d)d) Ooardd drlI$r 6,000 UK aaod:rlst.

iii) adDdolDd xarordra d{3,000 UK daod:det.

iv) ad: dq- dDe.g.adr{acr_.

v) deeoS: adoufrl qDddd doa"ogrrlcir Oeddemd dero_g @ 2% dd* -
o3:o$d FOB dPe-:rd d:ee3.

vi) deo{, ndrodS {ioearad:d A0d;o$ dPer, {8 1 UK apoAd t 78 draa"o0Jrlgo.
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e) ddd6"d $d)oicD Ddo€Jpri dja[l,rdtuddf 400 moddq).
0 e0d:o$ dd zlrredr p,lOd 1 60od = dro. 70.
g) d:oc.r erd:d: i:od 10%.

h) |GST 18%.

i) xadndd ds%ta nr5 (SWC) d:os sd:d: B:odd d>ee3 de. 1Odod e{o3:.

9. 'X" Oo])a)d xndrzgOddJ sr6 dJooadJd dodoolDRd. 'add Odrd C,Jql

2O2O - 21 do-dra. 1 5,00,000 (JRd. ejd6 doaesd d>Eoarl dr ddhd erodilqb 2.Jd37i

r^:o6d:
en?4J- dd eDdd sDz3:rrlS: :

a) eohedrd Fadrzr&d ieaa d.3rl DeBd derdri dro. 40,000.

b) ecoaol: dori a:eio dJa. 2,00,000.

c) d:ur:oa dorm dulf*t dra. 50,000.

d) $E&orr dormd d>eOd uodanq dqdn. 2,00,000.

cnd-d*andii zrd:rl$: :

a) do. 20,000 ddd> xas *rorle5e dddd., ddd xaOdO_uoOd:dd.
b) rlo,otr dedrdrlgod aJod DAadro. 60,000.
c) oe#ardQ uoduo96od zrod oql dro.2,00,000.
d) pd9eo$ dod0obod uod e>grood dra.40,000 (dro*o).

bo6d atBeddrodd ddF6od ddend :

a) draooiocbd iddg d,a. 70,000 6Dr!a
b) dJooana$d uodans d{d^. 80,000.

2021 - 22 dJao.dDdd ddrd dodOo$ s.t,r) erdJo$ oado dOzi dodo$dtr
dod)baobo. d --'r -'

10. dod &qnrdra ddr 2021 - 22f,0 ior^roQxdod z & co. adddg& * dgAdod
Oedond.

addrl$ dJog

t
ori at$dd dodDodo$ dDuro.l

dDad nddrdq de3, 2O,OO,OOO
AJ" oe+Frood uodaag

e>efcJ d:eOd dod 6,000" iatde 
1,7O,OOO

ood dDor8dq)

dJag

t

28,00,000

6edrEJOd e^:odulg
(,Jcj (dozied 10 (sB)
ddo$ s6,Jo$ 60ri
eoaogJg qd) 3,00,000
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30,000

31,30,000

-ar-

" qixa"riend etqnod doaSf 2,60,000 ', ddrJo qJ{,o doBfds
d:eOd u6o

" ercoo$ dori 1,20,000

" e{9 e)a?i s,74,ooo

dlaq g1,gO,0O0 3ag

qdddn8oS:

i) scDo$ dod rJob;o${o$ ddo$u6:otd Bdde drad T 1,00,000.

ii) &oad ddraod d{dd {,ao dod drdaad d{d drog t 2,so,ooo.

iii) eo6d ddrd ereoo$ dorio1> {,rad dod> draoaisDdd nddgo$ drdg
t 1,10,000.

*ocn dnbgdeod:

i) sadnd, Do$d>il9Bo$O_ dod0o$ ar,o" uoaalddl
ii) dod&o3l aad€dzJeaod e:doo$ godo$ dodroodo6 dnd atrto
iii) ucno$ dori rJo3Job doqjed 115 - JB {,6Ed mdenaJerad dorfoJ)dco

dod)&ao3Jo.

11. r-u,dr!o3:r USA Ood ed abracd 4A d)oari 1 6)oc,6 [$1] ?.JejoJ) 10,000 degd
?.dt$ &roo CIF d$dtr sdQddd erd.:d: d>Bdo$:;qd (d;odd Ae&Fd (53.15.10)

daad oJ: d:n dr) $JriJa ee:: 6Esdla9"eDr$dd: erd: d: 0 so r ocr, erJ i$9 d, n6? o$d

dtueddo{ 6&ri tJdeton doddd:n aadgiod *roSrroJrq ddllgTi Oed;ed. errqid

d>aro6d 50% d{dodd&4 aQBe)) €,e&ncDnd. dDddr,lsJeiob {,e de$d

udurr anO d:od.:d t 1OO sRd. droe.: dnd{{,rod Bcodrl9 dd 10%' SWS

u{o$aoif:$d. aDilo$ dd 1US $ = 60, IGST = 18% e3ao;^od:

a) dodddod

b) daadod:&ndddltogB$ ddC and'gnt3erod utlr",dod' * {'ddeodO-

aQi?rdrmd doqdnqd dod ad'g?


